Spiel 1 Spiel 2 ~ Gesamt

16:15|A 01 Harucksteiner Thomas 44 + 52 = 96
B 02 Temper Manfred 36 + 46 = 82
16:22|B 01 Achleitner Christian 49 + 54 = 103
A 02 Reichenberger Peter 49 + 54 = 103
B 01 Achleitner Christian 16 + 20 = 36
A 02 Reichenberger Peter 15 + 16 = 31
16:29|C 01 Temper Josef 57 + 44 = 101
D 02 Sperl Pierre 46 + 60 = 106
16:36|D 01 Haider Hubert 45 + 48 = 93
C 02 Hintersteiner Hubert 45 + 44 = 89
17:11{V 01 Temper Manfred 4 + 47 = 88
V 03 Temper Josef 46 + 45 = 91
17:18|V 02 Reichenberger Peter 57 + 54 = 111
V 04 Hintersteiner Hubert 35 + 48 = 83
17:53|S 01 Harucksteiner Thomas 54 + 50 = 104
S 04 Sperl Pierre 54 + 45 = 99
18:00|S 02 Achleitner Christian 44 + 57 = 101
S 04 Haider Hubert 43 + 55 = 98
19:11|P 07 Temper Manfred 62 + 50 = 112
P 08 Hintersteiner Hubert 42 + 50 = 92
19:25|P 05 Temper Josef 52 + 42 = 94
P 06 Reichenberger Peter 58 + 49 = 107
19:46|P 03 Sperl Pierre 49 + 56 = 105
P 04 Haider Hubert 52 + 56 = 108
20:32(P 01 Harucksteiner Thomas 52 + 50 = 102
P 02 Achleitner Christian 62 + 54 = 116




